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        2023-2024 

 

Name _____________________________________  Date ___________  Period _______ 

                                                                           

Draw and label a triangle with the given information. Determine the number of triangles with the 

given parts.  Solve each triangle.  If there is no triangle or second triangle, write NA in the blanks.  

Round to the nearest tenth. 

1.   𝑨 = 𝟑𝟗. 𝟔°,   𝒄 = 𝟏𝟖. 𝟒,   𝒂 = 𝟑. 𝟕  

 

 𝑚∠𝐴1 =  __________   𝑎1 =  __________ 

 𝑚∠𝐵1 =  __________  𝑏1 =  __________ 

 𝑚∠𝐶1 = ___________  𝑐1 =  __________ 

 

 𝑚∠𝐴2 =  __________   𝑎2 =  __________ 

 𝑚∠𝐵2 =  __________  𝑏2 =  __________ 

 𝑚∠𝐶2 = ___________  𝑐2 =  __________ 

 

2.  𝑨 = 𝟒𝟏. 𝟐°,   𝒂 = 𝟖. 𝟏,   𝒃 = 𝟏𝟎. 𝟔 

 

 𝑚∠𝐴1 =  __________   𝑎1 =  __________ 

 𝑚∠𝐵1 =  __________  𝑏1 =  __________ 

 𝑚∠𝐶1 = ___________  𝑐1 =  __________ 

 

 𝑚∠𝐴2 =  __________   𝑎2 =  __________ 

 𝑚∠𝐵2 =  __________  𝑏2 =  __________ 

 𝑚∠𝐶2 = ___________  𝑐2 =  __________ 

 

3.  𝑩 = 𝟏𝟑𝟖. 𝟏°,   𝒄 = 𝟔. 𝟑,   𝒃 = 𝟏𝟓. 𝟔  

 

 𝑚∠𝐴1 =  __________   𝑎1 =  __________ 

 𝑚∠𝐵1 =  __________  𝑏1 =  __________ 

 𝑚∠𝐶1 = ___________  𝑐1 =  __________ 

 

 𝑚∠𝐴2 =  __________   𝑎2 =  __________ 

 𝑚∠𝐵2 =  __________  𝑏2 =  __________ 

 𝑚∠𝐶2 = ___________  𝑐2 =  __________ 

 

7.3A 
SCORE: 

 / 



 

4.  𝑪 = 𝟏𝟐𝟖. 𝟔°,   𝒂 = 𝟗. 𝟔,   𝒄 = 𝟖. 𝟐 

 

 𝑚∠𝐴1 =  __________   𝑎1 =  __________ 

 

 𝑚∠𝐵1 =  __________  𝑏1 =  __________ 

 

 𝑚∠𝐶1 = ___________  𝑐1 =  __________ 

 

 

 𝑚∠𝐴2 =  __________   𝑎2 =  __________ 

 

 𝑚∠𝐵2 =  __________  𝑏2 =  __________ 

 

 𝑚∠𝐶2 = ___________  𝑐2 =  __________ 

 

 

5.    𝑩 = 𝟑𝟐. 𝟕°,   𝒂 = 𝟑𝟕. 𝟓,   𝒃 = 𝟐𝟖. 𝟔  

    

 𝑚∠𝐴1 =  __________   𝑎1 =  __________ 

 

 𝑚∠𝐵1 =  __________  𝑏1 =  __________ 

 

 𝑚∠𝐶1 = ___________  𝑐1 =  __________ 

 

 

 𝑚∠𝐴2 =  __________   𝑎2 =  __________ 

 

 𝑚∠𝐵2 =  __________  𝑏2 =  __________ 

 

 𝑚∠𝐶2 = ___________  𝑐2 =  __________ 

 

 

6.   𝑪 = 𝟗𝟗. 𝟔°,   𝒃 = 𝟏𝟎. 𝟑,   𝒄 = 𝟏𝟐. 𝟒 

 

 𝑚∠𝐴1 =  __________   𝑎1 =  __________ 

 

 𝑚∠𝐵1 =  __________  𝑏1 =  __________ 

 

 𝑚∠𝐶1 = ___________  𝑐1 =  __________ 

 

 

 𝑚∠𝐴2 =  __________   𝑎2 =  __________ 

 

 𝑚∠𝐵2 =  __________  𝑏2 =  __________ 

 

 𝑚∠𝐶2 = ___________  𝑐2 =  __________ 


